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% 0\\(\:@3’6 ¥ @ @ @ Multipliser desimaler med ti

StudentName: _ ExamDate: _ ExamScore:
9,242 x 10000 = 4,852 x 1000 =
8,349 x 1000 = 8,37 x 10 =
3,823 x 1000 = 8,913 x 10000 =
9,742 x 100 = 9,049 x 10 =
7,484 x 10000 = 3,818 x 100 =
2,978 x 10 = 2, 136 x 1000000 =
5,395 x 10 = 7,133 x 1000000 =
1,114 x 10 = 3,624 % 10 =
4,74 x 100000 = 1,727 x 1000000 =
5,159 x 1000 = 3,24 x 100000 =
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% 0\\(\:9’6‘:) @ ’ﬁ Multipliser desimaler med ti

StudentName: ExamDate: __ ExamScore: ____
9,242 x 10000 = 92420 4,852 x 1000 = 4852
8, 349 x 1000 = 8349 8,37 x10=283.7
3,823 x 1000 = 3823 8,913 x 10000 = 89130
9,742 x 100 = 974.2 9,049 x 10 = 90.49
7,484 x 10000 = 74840 3,818 x 100 = 381.8
2,978 x 10 =29.78 2,136 x 1000000 = 2136000
5,395 x 10 = 53.95 7, 133 x 1000000 = 7133000
1,114 x 10 =11.14 3,624 x 10 =36.24
4,74 x 100000 = 474000 1, 727 x 1000000 = 1727000
5, 159 x 1000 = 5159 3,24 x 100000 = 324000
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